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Question Number : 1 Question Id : 10017 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

In a thermocouple element, heat energy transferred to the hot junction is converted back to
electrical energy by

Options:

1 % Johnson's effect
5  Seebeck effect
z % Hall effect

4 w Faraday's effect

Question Number : 1 Question Id : 10017 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 2 Question Id : 10018 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following statements 1s not correct for thermo-couple measuring instruments?
Options:
1 % They are very useful as transfer instruments



-~ % They are incapable of taking any overload
-  Power losses are very low

4 % Their calibration does not change with time or temperature

Question Number : 2 Question Id : 10018 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 3 Question Id : 10019 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Electrostatic instruments are mainly used for measurement of

Options:
1 ® Hem'}rcun'ﬂlts

> « LOW currents
= #% Low voltages

, » High voltages

Question Number : 3 Question Id : 10019 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 4 Question Id : 10020 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Shaft encoder is used for the measurement of

Options:
|« Angular position

» % Linear position



5 w Linear velocity

, % Linear acceleration

Question Number : 4 Question Id : 10020 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IMFE TAFIET foreed # ¥ Foss A9 & BT guter &Far smar 22

Options:
| PO 3raER

5 # ™ yaET
o W WI'-EI' ?fﬁ'r
g4 % h?ﬂ'-ﬂ' U]

Question Number : 5 Question Id : 10021 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which instrument has highest frequency. range with accuracy within reasonable limits?
Options:
; % Moving iron

> % Thermo-couple

- % Electro-dynamometer
4 + Electrostatic

Question Number : 5 Question Id : 10021 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 6 Question Id : 10022 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following instruments does not use the effect of current for its operation?
Options:
1 % Hot-wire

> % Electrostatic



-  Thermocouple

4 % Induction type

Question Number : 6 Question Id : 10022 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 7 Question Id : 10023 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A moving coil galvanometer is made into a DC ammeter by connecting

Options:
1 # Low resistance across the meter

-  Highresistance in series with the meter

= % Pure inductance across the meter
4 w Capacitor in series with the meter

Question Number : 7 Question Id : 10023 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 8 Question Id : 10024 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Measuring range of a voltmeter can be extended by using
Options:
, » High shunt resistance

- w High series resistance



- % Low shunt resistance

4 Low series resistance

Question Number : 8 Question Id : 10024 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 9 Question Id : 10025 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Clamp-on-ammeter is used for measurement of

Options:
; w Large alternating currents

5 % Small alternating currents

=« Small direct currents

, w Large direct currents

Question Number : 9 Question Id : 10025 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 10 Question Id : 10026 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The moving coil in a dynamometer wattmeter is connected

Options:
1« In series with the fixed coil

- % Across the supply
= % In series with the load

4 % Across the load.



Question Number : 10 Question Id : 10026 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 11 Question Id : 10027 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A capacitor is charged through a resistance R then the time constant of the circuit is
Options:

Question Number : 11 Question Id : 10027 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 12 Question Id : 10028 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Constant voltage source is

Options:
1 % Active bilateral

> % Passive and bilateral



= « Active and unilateral

4 % Passive and unilateral

Question Number : 12 Question Id : 10028 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 13 Question Id : 10029 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Kirchhoff's law are not applicable to circuit with

Options:
, « Distributed parameters

> % Lumped parameters

2 % Passive elements

4 % Non-linear resistance

Question Number : 13 Question Id : 10029 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 14 Question Id : 10030 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following is not equivalent of Watts?

Options:
1 AJ.‘L]})EI‘ES X volts

> % (Amperes)’ x ohm



5  Amperes / volt

, % Joules per second

Question Number : 14 Question Id : 10030 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 15 Question Id : 10031 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Ohm is unit of all of the following except

Options:
1 % Inductive reactance

- % Capacitive reactance
= # Resistance

4 Capacitance

Question Number : 15 Question Id : 10031 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 16 Question Id : 10032 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The EMF in volts induced in a coil of 200 turns when the magnetic flux changes from
0.001 Wb to 0.0025 Wb in 0.1 sec. will be

Options:
; # 1.5V

> 3.0V



Question Number : 16 Question Id : 10032 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

% 15V
L s 30V

s % 45V
L% 75V

Question Number : 17 Question Id : 10033 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A FET can be used as a variable
Options:
1 % Inductor

> % Capacitor
= « Resistor

4 % Voltage source

Question Number : 17 Question Id : 10033 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 18 Question Id : 10034 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



The following figure states which of the following electrical material?
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1 % Conductor

Options:

-  Insulator
= % Semiconductor

4, % Superconductor

Question Number : 18 Question Id : 10034 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 19 Question Id : 10035 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Change in resistance of a conductor on increasing its length 3 times will be
Options:
; % Halved

> % One third

2 « Three times



4 % Six times

Question Number : 19 Question Id : 10035 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 20 Question Id : 10036 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a circuit, two 9 ohms resistances are connected in series to a parallel combination of two
2 ohms resistances. If the supply voltage 1s 38 V., the value of current mn the circuit will be

Options:
, % 38A

> % 19A
T W 05A
4 2A

Question Number : 20 Question Id : 10036 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 21 Question Id : 10037 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A DIAC is equivalent to
Options:
; ® TRIAC with two gates

- % Diode and two resistors

z % Pair of SCRs



4 + Pair of four-Layer SCRs

Question Number : 21 Question Id : 10037 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 22 Question Id : 10038 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which semi-conductor device behaves like two SCRs?

Options:
1 #® MOSFET

> % JFET
T uJT
4 v TRIAC

Question Number : 22 Question Id : 10038 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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. » MOSFET

- » JFET

5 % UJT
. » TRIAC

Question Number : 23 Question Id : 10039 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A device that does not exhibit negative resistance characteristics is

Options:
1 « DC motors

> % Single phase AC motors
% % Tunnel diode

., % SCR

Question Number : 23 Question Id : 10039 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
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Question Number : 24 Question Id : 10040 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Inverter converts electricity from
Options:

1 « Dcto Ac

- % Acto Ac

2 % D to Dc

4 ® Acto Dc

Question Number : 24 Question Id : 10040 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 25 Question Id : 10041 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TRIAC is used in

Options:
| « Colour TV sets

> % Black and White TV sets
= % Tape-recorders

4 % Audio systems

Question Number : 25 Question Id : 10041 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 26 Question Id : 10042 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Thyristors are not made using germanium because
Options:
, = Itisa stable semi-conductor

> % Group V elements cannot be doped with it

5  Its current handling capacity is less than silicon

4 It has high leakage current

Question Number : 26 Question Id : 10042 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 27 Question Id : 10043 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

A thyristor equivalent of a thyratron tube is

Options:
| « SCR

o % UIT
3 % DIAC
4 % TRIAC

Question Number : 27 Question Id : 10043 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 28 Question Id : 10044 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A thyristor i1s a semi-conductor switch which 1s?

Options:
, « Unilateral and astable

- % Bilateral and astable

= % Unilateral and bistable

4 w Bilateral and bistable

Question Number : 28 Question Id : 10044 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 29 Question Id : 10045 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following figure represent bellows?

Options:
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Question Number : 29 Question Id : 10045 Question Type: MCQ
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Correct : 1.0 Wrong: 0.25
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Question Number : 30 Question Id : 10046 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When a thyristor is in ON state. its gate drive should be

Options:
1 % Removed to save power

> % Removed or may not be removed

- % Not removed as it will turn off the thyristor

4 Removed to avoid increased losses and higher junction temperature

Question Number : 30 Question Id : 10046 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 31 Question Id : 10047 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A transistor-terminal current is positive when

Options:
1« Current is due to flow of electron

> % Current is due to flow of holes



5 % Electrons flow into the transistor at the terminal

, % Electrons flow out of the transistor at the terminal

Question Number : 31 Question Id : 10047 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 32 Question Id : 10048 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

.......... transistor is most suitable for high frequency circuits
Options:
| % Hermetically sealed

5 Grown-diffusion
- % Rate -grown

4 % Alloy

Question Number : 32 Question Id : 10048 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

F=a wgfea afuy ¥ B ZifSTeT Faw 39gea g

Options:

| % FNACFT Hies

. » T TEgaE
T W QE-?JW?—F

L, x FAE

Question Number : 33 Question Id : 10049 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Match the given List-I with List-II

List-I (Bipolar transistor) List-II (Doping)
A. Emitter 1. Light
B. Base 2. Heavy

C. Collector 3. Moderate



Options:

, % A-1, B-3,  C-2
> x BT B=7: &3
sv A-2, B-1  C-3
4% A-3, B-2 C-1

Question Number : 33 Question Id : 10049 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 34 Question Id: 10050 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The PN junction diode is

Options:
1% Passive device

- % Vacuum device
= % Unilateral device

4 + Bilateral device

Question Number : 34 Question Id: 10050 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 35 Question Id : 10051 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one of the following statement is not correct?

Options:
, % A tree contains all the vertices of its graph

5 A circuit contains all the vertices of its graph
= % The number of f-circuits is the same as the number of chords

4 % There are at least two edge in a circuit

Question Number : 35 Question Id : 10051 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 36 Question Id : 10052 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

If the step response of an initially relaxed circuit 1s known. then the ramp response can be
obtained by

Options:
| « Integrating the step response

> w Differentiating the step response
5 x Integrating the step response twice
4 w Differentiating the step response twice

Question Number : 36 Question Id : 10052 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 37 Question Id : 10053 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Two coils having equal resistance but different inductance are connected in series. The
time constant of the series combination is

Options:
| % Sum of the time constants of the individual coil

> « Average of the time constant of individual coil
2 ® Geometric mean of the time constant of the individual coils
4 % Product of the time constant of the individual coils

Question Number : 37 Question Id : 10053 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 38 Question Id : 10054 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If a unit step current 1s passed through a capacitor what will be the voltage across the
capacitor

Options:
1% Zero

> % A step function
= A ramp function

4 % Animpulse function

Question Number : 38 Question Id : 10054 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 39 Question Id : 10055 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Magnetostriction is

Options:
; % Induced magnetism

-  Change in volume accompanying magnetization
- % Rate of magnetization
4, w Rate of loss of magnetism

Question Number : 39 Question Id : 10055 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 40 Question Id : 10056 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

For an insulating material. dielectric strength and dielectric loss should be respectively
Options:
, = High and high

> % Low and high
=  High and low
4 % Low and low

Question Number : 40 Question Id : 10056 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 41 Question Id : 10057 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The difference between the number of atoms in a unit cell of BCC erystal and FCC crystal

15

Options:
1 #® |

[ ]

o
T R

4 %

Question Number : 41 Question Id : 10057 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 42 Question Id : 10058 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following statements are correct for ceramic materials?
A. They are inorganic substances.

B. They are brittle.

C. They are good thermal insulators.

Options:
| All three

5> % Only A and B
-z % OnlyBandC
4 % OnlyAandC

Question Number : 42 Question Id : 10058 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 43 Question Id : 10059 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Wire wound resistance are used only when
Options:
| % Precision is essential

> % Low values are required
-  High power rating is necessary

4 % Costly equipment’s are manufactured

Question Number : 43 Question Id : 10059 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 44 Question Id : 10060 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

When BCC 1ron 1s heated. it changes to FCC iron resulting in
Options:
, « Contraction in volume

> % Increase in volume



- % No change in volume

4 % Crack in the material

Question Number : 44 Question Id : 10060 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 45 Question Id : 10061 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When copper is added to silver in small quantity so as to form an alloy. the resistivity of
such on alloy is

Options:

, % Equal to the resistivity of copper

- % Equal to the resistivity of silver.

5 w Greater than the resistivity of copper.

4  Inbetween the resistivity of silver and copper.

Question Number : 45 Question Id : 10061 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 46 Question Id : 10062 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When a semiconductor bar 1s heated at one end, a voltage across the bar 1s developed. If the
heated end 1s positive, the semiconductor 1s

Options:



. P-type

o o N-type

= % Intrinsic

4 % Highly degenerate

Question Number : 46 Question Id : 10062 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 47 Question Id : 10063 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following phenomena is most important when foodstuff is cooked in a
microwave oven?

Options:
1 % Resistive Joule heating

-  Induction heating
z % Dielectric heating

4 w Radiation heating

Question Number : 47 Question Id : 10063 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 48 Question Id : 10064 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Which material among the following possesses excellent dielectric properties and good
reliability for use in making capacitors?

Options:

| % Silicon monoxide

- % Silicon dioxide
5 % Tin oxide

4 Chromium oxide

Question Number : 48 Question Id : 10064 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 49 Question Id : 10065 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Even though carbon is in the IV group of the periodic table. it is not used as a
semiconductor because it has.

Options:

; = High dielectric constant

> « Large energy gap = 5 eV
- % Low temperature coefficient

4 % Low thermal conductivity

Question Number : 49 Question Id : 10065 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 50 Question Id : 10066 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following materials are piezoelectric?
Options:
, % Mica and quartz

> % Mica, barium titanate and quartz

= % Mica and diamond

4 « Barium titanate and quartz

Question Number : 50 Question Id : 10066 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 51 Question Id : 10067 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following statements is correct for ionic crystal?

Options:
1 « Hard and brittle

> % soft and elastic
= % Hard and corrosive

4 % Soft and inflammable

Question Number : 51 Question Id : 10067 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:
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Question Number : 52 Question Id : 10068 Question Type: MCQ
Correct: 1.0 Wrong: 0.25



The material which has the property of becoming electrically polarized in response to an
applied mechanical stress is termed as

Options:
1 % Ferroelectric

> « Piezoelectric
= % Optoelectronic

4 % Superconducting

Question Number : 52 Question Id : 10068 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 53 Question Id : 10069 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one of the following materials is a ceramic material?
Options:

1 « Mica

5 w Zinc sulphide

% % Anfimony
4 % Copper

Question Number : 53 Question Id : 10069 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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5 % TAHEAT
4%_"'#:”

Question Number : 54 Question Id : 10070 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Magnetic cores required for RF applications properties should be

Options:



; % High hysteresis and eddy current losses.
-~ w High hysteresis and low eddy current losses
5 % Low hysteresis and high eddy current losses

4 « Low hysteresis and eddy current losses

Question Number : 54 Question Id : 10070 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 55 Question Id : 10071 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Metal film resistors are made by depositing a very thin layer of metal on
Options:

1 % Metal road

> « Bakelite sheet

5 % Ceramic rod

4 R Metal sheet

Question Number : 55 Question Id : 10071 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 56 Question Id : 10072 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Piezoelectricity is the reverse effect of
Options:

1. % Electroluminescence

- « Electrostriction

2 % Peltier effect



4 % Hall effect

Question Number : 56 Question Id : 10072 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:
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Question Number : 57 Question Id : 10073 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a crystal lattice, what are the vacancies created in the absence of certain atoms known
as

Options:

| % Hertz defects

- « Schottky defects
= % Pauli defects
4 % Crystal defects

Question Number : 57 Question Id : 10073 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 58 Question Id : 10074 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

SCR is made up of silicon because it is
Options:
; = Easily available

- % Thermally Stable

= % Cheap

4 + Meant for minimum leakage current

Question Number : 58 Question Id : 10074 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
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Question Number : 59 Question Id : 10075 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A device with combined properties of thyristor and transistor is

Options:
1 ® SCE

o # DIAC
z % TRIAC
4 « GTO

Question Number : 59 Question Id : 10075 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

il 3T ST gt & I[or arer FEmw Sear g2
Options:

. % SCR

, % DIAC
- » TRIAC

, v GTO

Question Number : 60 Question Id : 10076 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Conventional flow of current in a P-N-P transistor is from

Options:
1+« Emitter to Base

> % DBase to Emitter

= % Base to Collector

4 % Emitter to Collector

Question Number : 60 Question Id : 10076 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

P-N-P Zifareet & anr &1 g g &

Options:

l_wuﬁaﬂﬁ'@rﬁrsﬂ'{



gwaﬂ'@ﬂﬁﬂﬁm
3 % SH/ § Feldel Hr 3T
. % UTHE ¥ Foleel & IR

Question Number : 61 Question Id : 10077 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A series circuit containing R. L. and C is excited by a step voltage input. The voltage
across the capacitance exhibits oscillations. Damping coefficients (ratio) of circuit is given
by

Options:

; % R/2WLC
> #% R/LC

z % R/2NC/L
4.« R2\L/C

Question Number : 61 Question Id : 10077 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:

. = RI2\LC
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. v R/2\LC

Question Number : 62 Question Id : 10078 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The system described the equation
F(s)=S*+25*+6S+K
According to Routh-Hurwitz's criteria. is

Options:
1 « Unstable for all value of K

5 % Stable if K= 0
=z % Stableif K <0
4 % Stable for all values of K

Question Number : 62 Question Id : 10078 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 63 Question Id : 10079 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The root locus of the system has four separate loci. The system can have
Options:
1 « Four poles and four zeros
> % Four poles or four zeros
5 % Six poles and two zeros

4 % Two poles and two zeros

Question Number : 63 Question Id : 10079 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 64 Question Id : 10080 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the control system shown in the given figure, the controller which can give Zero steady-
state error to a ramp input, with K=9 is

+

Controller - -
s(s+a)

Options:
, % Proportional type

>  Integral type



5 ® Derivative type

, % Proportional plus derivative type

Question Number : 64 Question Id : 10080 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:
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Question Number : 65 Question Id : 10081 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Laplace transform of the output response of a linear system transfer function when the
input 1s?

Options:

1 % Step signal

- % Ramp signal

3 Impulse signal

4 % Sinusoidal signal

Question Number : 65 Question Id : 10081 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 66 Question Id : 10082 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which one of the following is open loop?
Options:
, ® The respiratory system of man

> % A system for controlling the movement of the slide of a copying milling machine

z % A thermostatic control

4 « Traffic light control

Question Number : 66 Question Id : 10082 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 67 Question Id : 10083 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When the input to a system was withdraw at t=0, its output was found to decrease
exponentially form 1000 units to 500 units in 1.386 seconds. The time constant of the
system is?

Options:

1 % 0.500

> % 0.693

z % 1386

4. % 2.000

Question Number : 67 Question Id : 10083 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S9 =0 T A & saqe H Fwer o 7137 |, 99 38Fr w3ye 1.386
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Options:

% 0.500



. % 0.693

= % 1386
4 v 2.000

Question Number : 68 Question Id : 10084 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The signal flow graph shown in the given figure has.

Options:
, « Three forward paths and two non-touching loops

- % Three forward paths and three loops

- % I'wo forward paths and two non-touching loops

4, % Two forward paths and three-loops

Question Number : 68 Question Id : 10084 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 69 Question Id : 10085 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



The transfer function of the lead compensator
Ge(s)=1=1+0.125/1+0.04 s
The maximum phase shift that can be obtained from this compensator is

Options:
| % 60°

> #® 45°

3.+ 30°
4 % 15°

Question Number : 69 Question Id : 10085 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:
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Question Number : 70 Question Id : 10086 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The polar plot of a transfer function with GO as the parameter is known as the

Options:
1« Nyquist plot

> % bode plot
z % Root-locus

4 ® Signal flow graph

Question Number : 70 Question Id : 10086 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

WreAeT & Ty Gl T FFAT FT I T g

Options:
L=
I_Jrﬁ"%{-d el

> % €% Solle
. x ®C WA

, » TEIAS Tl AR

Question Number : 71 Question Id : 10087 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



Consider the following statements:

A. The effect of feedback is to reduce the system error.

B. Feedback increases the gain of the system is one frequency range but decreases in
another.

C. Feedback can cause a system that is originally stable to become unstable.

Which of these statements are correct?

Options:
1 # All three

> % Only A and B
= % OnlyBand C
4 v Only Aand C

Question Number : 71 Question Id : 10087 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 72 Question Id : 10088 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Consider the following statements:

Routh-Hurwitz criterion gives

A. Absolute stability

B. The number of roots lying on the half of the s-plane.
C. The gain margin and phase margin.

Which of these statement are correct?

Options:

1 % All three

5 « Only A and B
- % OnlyBand C

4 % OnlyAand C

Question Number : 72 Question Id : 10088 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

o= Faat W earT g

T Fqiaea Fgiam

A. THeH TRerar Jerrar 2

B. 3T s-Told US< el F@l &l HEATT ATl &
C. 317 AT T %t Alfeied gamar g

FiT T Fua "L 22
Options:

1 ® 'ﬂ'gﬂ'(—ﬁﬂ'
- % $a B 3R C

L« Faa A HR C

Question Number : 73 Question Id : 10089 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Nyquist plot shown in given is for a type

b'__“'h\\‘ [ -

St S . Re
K-\- s — . o3 I
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Options:
1 « Zero system

> % One system
= #% IWo system
4 % Three system

Question Number : 73 Question Id : 10089 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 74 Question Id : 10090 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

What type of magnetic behaviour is observed in a type I superconductor?
Options:
1 « Perfect diamagnetism

> % Perfect paramagnetism
- w Perfect ferromagnetism

, w Perfect ferrimagnetism

Question Number : 74 Question Id : 10090 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 75 Question Id : 10091 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

With regard to the filtering property, the lead compensator and lag compensator are,
respectively



Options:
; % Low pass and high pass filters

> of High pass and low pass filters
- » Bothhigh pass filters

4 % DBothlow pass filters.

Question Number : 75 Question Id : 10091 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 76 Question Id : 10092 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Match List -I (Type of controller) with List-II (Operation) and select the correct answer
using the given lists:

List-I List-II

A. Pneumatic controller 1. Flexible operation

B. Hydraulic controller 2. High torque high speed operation
C. Electronic controller 3. Fire proof operation

Options:

1 % A-1, B -3, C-2

> % A-l, B-2, =

2 o A3, Bod 2

L% A-3, B-2 C-1

Question Number : 76 Question Id : 10092 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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 x =1 B-3 C-2



.. A-1 B-2 C-3
ceh-3 B-1 €-2
+xA-3 B-2 C-1

Question Number : 77 Question Id : 10093 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Match List-I with List-IT and select the correct answer using the given lists :

List-I (SCR rating) List-II(Protective Element)

A, di/dt limat 1. Snubber

B. dVv/dt limit 2. Heat sink

C. 12t limit 3. Series reactor

D. Junction temperature limit 4. Avoid runway speeds on no-load
Options:

, ®x A-1, B-2, C-3, D-4

. xA-2, B-3 C-4 D-1

s wE-E BUL. E_4 B2

4 ®A=1L B3 €-4, D-1

Question Number : 77 Question Id : 10093 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

& -l 1 g 8 e hife

-1 (SCR fe) -l (G aea)
A. di/dt Tfae 1. T
B. dv/dt fafae 2. ée o=

it fofae 3. @i Ruaex

D. ST ausA e 4. AT oE 9T IF 3T TAE & hd & T

Options:

1_%.&-‘1, B-2 C-3 D-4
4

, x B ‘B=-3, ©-4 D-1
v AK-3, B-1 €-4 D-2
.xA-1, B-3 C-4, D-2

Question Number : 78 Question Id : 10094 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which semiconductor power device out of the following is not a current triggered device?

Options:
1 % Thyristor

> % G.T.O.



- % TRIAC
4 v MOSFET

Question Number : 78 Question Id : 10094 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:

| % e
> % G.T.O.
=z % TRIAC
4 v MOSFET

Question Number : 79 Question Id : 10095 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one of the following controls reduce the size of the transformer in a switch mode
AC power supply?

Options:

1 % Resonant control

- % Bidirectional control

= « PWM control

4 % Phase control

Question Number : 79 Question Id : 10095 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 80 Question Id : 10096 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Fastest memory cell is

Options:
| % Bubble memory

5 % Semiconductor RAM

=  Semiconductor memory

4, % Superconductor memory



Question Number : 80 Question Id : 10096 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

R T Aad aw &

Options:

1.$Wm

- % 3TaTerss RAM
5 v TS AAD
4 % Ffa=mers #HAL

Question Number : 81 Question Id : 10097 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The voltage levels for a negative logic system

Options:
 ® Mustnecessarily be negative

-  Could be negative or positive
5 % Must necessarily be positive
4 % Must necessarily be either zero or -5V

Question Number : 81 Question Id : 10097 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 82 Question Id : 10098 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The number of comparators needed in a 4-bit flash- type A/D converter is

Options:
1. % 32

> & 15
3_238
4 % 4

Question Number : 82 Question Id : 10098 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 83 Question Id : 10099 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The number of bits needed to address 4 K memory is

Options:
1. % 6

o W 8
z o 12
4 % 16

Question Number : 83 Question Id : 10099 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
1. % 6

> % 8
3 v 12
42316

Question Number : 84 Question Id : 10100 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The highest priority in 8085 microprocessor system is

Options:
. % RST7.5

> % RST6.5
s % INTR
4 «+ TRAP

Question Number : 84 Question Id : 10100 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Options:

. » RST 7.5
. % RST 6.5

. » INTR
. v TRAP

Question Number : 85 Question Id : 10101 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
Which one of the following has the highest accuracy?

Options:
1 « Standard resistance

> % Standard inductance
- % Standard capacitance

4 % Standard mutual inductance

Question Number : 85 Question Id : 10101 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 86 Question Id : 10102 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Can measure \Cfl'll}F pressure.

Options:
, % Displacer.

> % Radioactive method.
= « Belt type meter.

4 % DBubble gauge method.

Question Number : 86 Question Id : 10102 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

UF ga= FF AT Fhar 2

Options:

| » BECE
o« AT vided g

4 % Fga AT HeT

Question Number : 87 Question Id : 10103 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Can measure only level.

Options:
1 % Bellow



> % Diaphragm
5  Strain gauge
4 % Radioactive method.

Question Number : 87 Question Id : 10103 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

&% RTAAT FT A9 FHIaT g

Options:

1_33&?‘“-
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4 ® Ifzar vfeeg g=fa

Question Number : 88 Question Id : 10104 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

For measuring a very high resistance we should use
Options:
, % Kelvin's double bridge

> % Wheat stone bridge
5  Megger
4 % Schering bridge

Question Number : 88 Question Id : 10104 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

3= 9faly & AT 8 §A - FIART # AT =R
Options:

| x Shicdd 9 o
> % e o=

3 v A
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Question Number : 89 Question Id : 10105 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The electrical power to a megger is provided by
Options:
1 = DBattery

> « Permanent magnet D.C. generator
= % A.C. Generator

4, % Any of the other three options



Question Number : 89 Question Id : 10105 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

R # Regd ofFa e g@nr gar= #r = 82

Options:

1.23%3&

. v THAEE HAe DC Tl
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Question Number : 90 Question Id : 10106 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The operating voltage of a megger is

Options:
1 ® 6V

o % 12V
3 % 40V
4+ 100V

Question Number : 90 Question Id : 10106 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FR Fr gR=Tes Feedr - g g

Options:

1 ® 6V
> % 12 V

2 % 40 V
4 v 100 V

Question Number : 91 Question Id : 10107 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The instrument transformer is used to extend the range of
Options:
1+ Induction instrument

> % Electrostatic instrument
= % Moving coil instrument

4 % No type of instruments

Question Number : 91 Question Id : 10107 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 92 Question Id : 10108 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The rectifier instrument is not free from
Options:
, % Temperature error

5 « Wave shape error
= % Frequency error

, % Temperature, wave shape and frequency errors

Question Number : 92 Question Id : 10108 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FerrR o= e @ JgFa 78 ganr

Options:

| » TTIHHA A

, o T H I

3 % HNieet AW
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Question Number : 93 Question Id : 10109 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Most sensitive galvanometer is

Options:
, = Elastic galvanometer

> % Vibration galvanometer

5 % Duddle galvanometer

4 Spot ballistic galvanometer

Question Number : 93 Question Id : 10109 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

I FagAefier TearAART 2

Options:
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Question Number : 94 Question Id : 10110 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

type instrument can have full scale deflection of 300 degrees.

Options:
1 + Induction instrument

> % Rectifier
= % Hot wire

4 % Moving iron

Question Number : 94 Question Id : 10110 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

YPR F AT 300 B T F1 T Fher B ad &

Options:
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. x BIC a
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Question Number : 95 Question Id : 10111 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A portable instrument is likely to have damping.
Options:

i « Eddy current

- % Gravitational

= % Pneumatic

4 % Fluid friction

Question Number : 95 Question Id : 10111 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

géEer a9 A T STFer T AT T
Options:
1#’@%




Question Number : 96 Question Id : 10112 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The phenomenon of 'creeping' occurs in

Options:
1 % Ammeters

> % Voltmeters

z ® Wattmeters

4 « Watt hour meters

Question Number : 96 Question Id : 10112 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Frfer orfy FEr 2 |

Options:

| w FHEHET A

. % dlccHET H

3 ® AT #

, o J€ HET AT A

Question Number : 97 Question Id : 10113 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Permanent magnets used in instruments are generally made of
Options:
| % Stainless steel

> « Alnico
2 % A-alloy
4 % Cast iron

Question Number : 97 Question Id : 10113 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

T F T F T S A TRl gaw @A Hew o ge e &2
Options:
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4 % ToIaT oflEr

Question Number : 98 Question Id : 10114 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following bridges is used to measure power factor?



Options:
| % Wien's bridge

> % Maxwell bridge
-  Schering bridge
4 % Kelvin bridge

Question Number : 98 Question Id : 10114 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fr=fofea & & 9 @1 7= ofFq o & A= & e g3 e ST 82

Options:

| % 3 =

, « HFHad =
|, T R
433#%7{%?

Question Number : 99 Question Id : 10115 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The negative feedback input impedance of an amplifier.

Options:
1 % Decreases

5 o INCreases

= % Has no effect on

4 % Destroys

Question Number : 99 Question Id : 10115 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

RO FEds, TETAHRR F e seEq & el

Options:

llszEl?.'.'IT-lT
ng
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Question Number : 100 Question Id : 10116 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If power gain of an amplifier is X and its voltage gain is Y, then its current gain will be

Options:
1 % XY

> % XY



3 « Y/X
4 % Y-X

Question Number : 100 Question Id : 10116 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IR TFdT TFETeEIT FT ofeT o X g, Y Sees ey Y &, ar 3T OnT

Options:

1w XY
> x XY
z  YIX
4 % Y-X

Question Number : 101 Question I1d : 10117 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a PN junction. with no external voltage. the electric field between the acceptor and the
donor ions is called as

Options:
1 % Peak

> % Threshold

o « DBarrier

4 % Path

Question Number : 101 Question Id : 10117 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

PN ST H 9 Seedar & &aT, teutey T 297 HTal & 819 309
foege &5 FFar Fgamr &2

Options:

Question Number : 102 Question Id : 10118 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Ripple factor is the ratio of value to value.

Options:
| % rms. peak

> % peak, DC
3 « 1ms, DC



4 % peak.rms

Question Number : 102 Question I1d : 10118 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fraer ST AT ° HA T e 3

Options:

| % Ims, 9%
. » 9=, DC

= « s, DC
, x dih, rms

Question Number : 103 Question Id : 10119 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The forward region of a semiconductor diode characteristics curve is where diode appears
as

Options:
, % High resistance

> « ON switch
= % OFF switch

4, » Capacitor

Question Number : 103 Question Id : 10119 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

=T & STAE AfRrsew I # 37r &9 Ig g9 § e = e 22

Options:

Question Number : 104 Question Id : 10120 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The process of deliberately adding impurities to a semiconductor is known as
Options:

, % Keying

> % Combining

5 « Doping

4 % Sintering



Question Number : 104 Question Id : 10120 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

et rdarers & Serases srfeat &t e $r G5ar #t Far F7a 2

Options:
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Question Number : 105 Question Id : 10121 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

At absolute zero. an intrinsic semiconductor.
Options:
1 % Becomes extrinsic

> % DBehaves like an insulator
5 x Disintegrates into pieces

4 « Becomes a superconductor

Question Number : 105 Question Id : 10121 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fader o W, v At e

Options:
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Question Number : 106 Question Id : 10122 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The donor impurity must have electrons.

Options:
1. % 3

2.334
3. 5
4 % 6

Question Number : 106 Question I1d : 10122 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S HfE A golaglel gl g0

Options:




1 % 3
- u 4
3¢ 5
4% B

Question Number : 107 Question Id : 10123 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

An electron in the conduction band
Options:
% Is always chargeless

» % Has tendency to leave the atom
- w Has lower energy than an electron in the valence band

4 « Has higher energy than an electron in the valence band

Question Number : 107 Question Id : 10123 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FEFA dT H soacla
Options:
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Question Number : 108 Question Id : 10124 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The temperature coefficient of an intrinsic semiconductor 1s
Options:

| % Zero

- % Positive

5 « Negative

4 % Positive or negative

Question Number : 108 Question Id : 10124 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

g HUTelh FH ATIHHA 0TS FIam §

Options:
1. ® Qﬂ\

5 % YdlcHeh
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Question Number : 109 Question Id : 10125 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one of the following statement is not correct?
Options:
, % Itisnot possible to have precise measurements which are not accurate.

5  Correctness in measurement requires both accuracy and precision

Reproducibility and consistency are expressions that best describe precision in
= % leasursments

4% An instrument with 2% accuracy is better than another with 5% accuracy

Question Number : 109 Question I1d : 10125 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T & @ Fiqar a7 wdr F&F 2

Options:
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Question Number : 110 Question Id : 10126 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The decimal equivalent of the hexadecimal number ES5 is

Options:
1 ® 27

> v 229
o W 327
4 ® 227

Question Number : 110 Question Id : 10126 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

SFOTEHIH WEAT E5 T =fIH e THFET &

Options:

% 279
, v 229
T W 327



L % 227

Question Number : 111 Question I1d : 10127 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A +B =Y is the Boolean function for
Options:
1 % AND gate

- % NAND gate
= % NOR gate
4 « OR gate

Question Number : 111 Question Id : 10127 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A + B = Y fFmer sforme wseor 2

Options:

. % AND 3
- » NAND 31T
- » NOR ¥
4 v OR irA

Question Number : 112 Question Id : 10128 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The following expression may be simplified as ( AB + C + DC)(AC + BC + D)

Options:

o % AB+BC
5 x AB+BC+CD
. v AC+BC+DC + ABD

Question Number : 112 Question 1d : 10128 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

foye=T THSIUT FT TIHIOT FAT &7 ( AB + C + DC)(AC + BC + D)

Options:
.« A+B+C+D
EQAB*‘BC

. » AB + BC + CD
, v AC + BC + DC + ABD

Question Number : 113 Question Id : 10129 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



How many flip- flop circuits are needed to divide by 167

Options:
1 % Two

- % Four
= % Eight

4 Sixteen

Question Number : 113 Question Id : 10129 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

16 ® fsnforg &= & v fraa a9 warg aftgyt fr sraegesar gdr 22
Options:
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Question Number : 114 Question Id : 10130 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

An index register in a digital computer is used for
Options:
1 + Address modification

- % For indirect address

- w Storing one of the operands
4 w Pointing to the stake address

Question Number : 114 Question Id : 10130 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

foea Fogex 7 397 o &1 77 g 2
Options:
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Question Number : 115 Question Id : 10131 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

How many {flip- flops circuits are needed for a 4 bit counter?
Options:
1 ® Two



5 % Three
= « Four

Question Number : 115 Question I1d : 10131 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

4 T F3eT & T fras e waig aftay T 3MT9Taar gar 82

Options:
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Question Number : 116 Question I1d : 10132 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Microprocessor 8085 1s the enhanced version of with essentially the same
construction set.

Options:
1 ® 6800

2 ® 68000
3. ¢ 8080

4 % 8000

Question Number : 116 Question Id : 10132 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

TATT daTGe U & O ASHIEET 8085 frgerr aftia gwwwor 72
Options:

. = 6800
. » 68000
. « 8080
. % 8000

Question Number : 117 Question I1d : 10133 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A fetch cycle is the
Options:
1+ First part of the instruction cycle

> % Last part of the instruction cycle

= % Intermediate part of the instruction cycle

4 w Auxiliary part of the instruction cycle

Question Number : 117 Question 1d : 10133 Question Type: MCQ



Correct : 1.0 Wrong: 0.25
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Question Number : 118 Question I1d : 10134 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

SAP-I has T states , period during which register contents change
Options:
1 % Two

- % Four
i d Six

, % Eight

Question Number : 118 Question Id : 10134 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

SAP-| & T ®< g &, fiftas oad 5wt e acaa &
Options:

1.$3$

> % =N

3 & O

4 % 3TS

Question Number : 119 Question Id : 10135 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

What is the direction of control bus?
Options:
, w Uni-directional into pP

> % Uni-direction out up
= % Bi-directional

4 Mixed direction i.e. . some lines into uP and some others out of pP

Question Number : 119 Question Id : 10135 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 120 Question Id : 10136 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

What is the length of A - register?

Options:
1 # 6 bits

2 ® 12 bits
4 % 16 bits

Question Number : 120 Question I1d : 10136 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A-TTSrEeT &1 o7 &7 gidr 87

Options:

| » 6 Toew
> v 8 Taew
5 x 12 foza
4 % 16 foew

Question Number : 121 Question Id : 10137 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

What is the length of IR (Instruction Register)?

Options:
1 % 6 bits

= % 12 bits
4 % 16 bits

Question Number : 121 Question Id : 10137 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

IR (T Tarey) $r == a7 g 272

Options:
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Question Number : 122 Question Id : 10138 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

What is the length of SP (stack pointer)?

Options:
1 % 0O bits

o W 8 bits
3 % 12 bits

Question Number : 122 Question Id : 10138 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

SP (B uisex) $r Fas a7 g1dr &7
Options:
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. » 8 foew
3 % 12 fazw
4.415‘%@

Question Number : 123 Question Id : 10139 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The first machine cycle of an instruction is always a

Options:
|« Memory reed cycle

., w Fetchcycle
- % DOreal cycle

4 % Memory write cycle

Question Number : 123 Question 1d : 10139 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 124 Question 1d : 10140 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Consider the following statements.

Statement A- Conduction current in n-type semiconductor is more than that in p-type
semiconductor.

Statement B- Mobility of electrons is greater than that of holes.

Options:
1 « A and B are true and B is the correct explanation of A

- % #Aand B are true but B is not the correct explanation of A

% A 1s true but B is false

4 % Bistrue but A is false

Question Number : 124 Question Id : 10140 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 125 Question Id : 10141 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

When a p-n junction is reverse biased.
Options:
, # Depletion layer decreases

5w It offers low resistance
3 Depletion layer increases

4 w Electron mobility increases

Question Number : 125 Question Id : 10141 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 126 Question Id : 10142 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A p-n junction diode is used as
Options:

1 « Rectifier

> % Modulator

= % Demodulator

4 w Amplifier

Question Number : 126 Question Id : 10142 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 127 Question Id : 10143 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following is digital transducer?
Options:
| « Encoder

> % Photovoltaic

- % Thermocouple

, w Piezoelectric transducer

Question Number : 127 Question Id : 10143 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 128 Question Id : 10144 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

The dynamometer type wattmeter 1s shield against stray magnetic fields by
Options:
, w Earthing the meter

> w Providing neutral wire connection
= % Housing the meter in a soft iron case

4 « Making meter components of non-paramagnetic materials

Question Number : 128 Question Id : 10144 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 129 Question 1d : 10145 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When a capacitor was connected across the terminals of an ohm meter. the pointer
indicated a low resistance initially and then slowly came back to very high resistance. This
indicates that capacitor is

Options:
, = Faulty

> % All right
z ® Leaky
4+ Short-circuited

Question Number : 129 Question Id : 10145 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 130 Question Id : 10146 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Shunts are employed in series with ohmmeter for
Options:
, » Increasing accuracy

5 of Measuring current

- % Spreading out the range

, % Protection of meter from burning.

Question Number : 130 Question Id : 10146 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 131 Question I1d : 10147 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Potentiometer is basically a Instrument.

Options:
; w Digital

- « Deflection type
= % Null type
, % Recording

Question Number : 131 Question Id : 10147 Question Type: MCQ
Correct: 1.0 Wrong: 0.25
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Question Number : 132 Question 1d : 10148 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Transducers are not known as
Options:
1 % Gauges

> « Transistors
5 % Pickups

4 % Signal generators

Question Number : 132 Question Id : 10148 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 133 Question 1d : 10149 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

For converting a number in decimal number system to its binary equivalent. remainders are
recorded after successive division of the number by

Options:
1 2

o ® 40
3_238

T 16

Question Number : 133 Question Id : 10149 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Options:
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Question Number : 134 Question Id : 10150 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

When measurement provides impulse for remote automatic action. then the result called
as

Options:

1 # Process electronics

o o Control system
= % Sensing
4 % Conversion

Question Number : 134 Question I1d : 10150 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 135 Question Id : 10151 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following does not measures self-inductance?
Options:

, = Maxwell's bridge

-  Kelvin's double bridge

= % Hay's bridge

4% Owen's bridge

Question Number : 135 Question Id : 10151 Question Type: MCQ
Correct : 1.0 Wrong: 0.25
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Question Number : 136 Question I1d : 10152 Question Type: MCQ



Correct : 1.0 Wrong: 0.25

Attractive type and repulsive type are two types of
Options:

, w Rectifiers

- % Moving coil instruments

5  Moving iron instruments

, % Energy meters

Question Number : 136 Question Id : 10152 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

HFYF 3T gfaes T =T Fas gar 272
Options:

1_23%%:'“-&?
Zwaﬁﬁgﬁﬁrm

5 « Hloid AU Ted
4_$31Z'F-IGﬁIﬁE'{

Question Number : 137 Question Id : 10153 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Wattmeter cannot be designed on the principle of
Options:
| ® Electrostatic instrument

- w Thermocouple instrument
= « Moving iron instrument
, % Electrodynamic instrument

Question Number : 137 Question Id : 10153 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

JeHE (wattmeter) s BEa W BaEa A8 Far 51 IFar &2

Options:

| » TR dgd Tew
. % UHATETT T

o IO A T

4 % SoFCISTUATIHG Tod

Question Number : 138 Question Id : 10154 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

LEDs normally work on a voltage of

Options:



1 « 1to2volts
> % 10 to 20 volts
2 % 20 to 40 volts

4% 100 to 200 volts

Question Number : 138 Question Id : 10154 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

LED ®TATT: fraer deest X &1 F:ia 87

Options:

L v 182 Jees
. % 10 ¥ 20 drecH

, » 100 ¥ 200 Feew

Question Number : 139 Question 1d : 10155 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

For a PN junction, we have
A. Width of depletion layer
B. Junction barrier voltage
C. Reverse leakage current

Which of the above parameters will decrease when the temperature of the junction rises?

Options:
, % Only A

-  Only Aand B
z % OnlyBand C

4 % All three

Question Number : 139 Question Id : 10155 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T PN So T & @ig &
A. 3TeTT 9T F =iEE

B. S AT Jiees

C. frad vt emr

FFE F JIFRH 9 W T H ¥ FiFdEr afoar gé=t?
Options:

l_ﬁﬁﬂ;.‘:\



, v BF AINB

. % % B3R C
4_337\q-3:ﬁ-(_'n?'ﬁ-

Question Number : 140 Question Id : 10156 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In case of semiconductors. recombination is
Options:
, # Merging of two electrons

> % Merging of two holes
= « Merging of one electron and one hole
4 % Merging of outside electron with another semiconductor electron

Question Number : 140 Question I1d : 10156 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

=TT A, ST g ar #
Options:

. % & Telagla w1 e
glﬁaﬁ.mmﬁm
- v T Selagld 3T ue g & Hes

| RO SR soglA F R gE seeela & wry Reaw

Question Number : 141 Question Id : 10157 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The bulk resistance of a diode is
Options:
1 % Resistance of N material only

- % Resistance of P material only

= % Resistance of junction only

4 « Resistance of N and P materials

Question Number : 141 Question Id : 10157 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TS T Took T 2T &
Options:

. w haer N 9erat T gfaRrer
o % Hael P Tagral &1 gfaser
5 % hadl FAFA T FTareT



Question Number : 142 Question Id : 10158 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The following figure represents

Y

O— —O

Options:
, v LED

5> ® Varactor
= W SCERE
4 ® DIAC

Question Number : 142 Question Id : 10158 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

feam gam Frs zeffar 2 — i

Options:

, v LED

o W a'lﬁ'\"
. % SCR
. % DIAC

Question Number : 143 Question 1d : 10159 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following is a nonlinear circuit parameter?
Options:
| « Inductance

> % Condenser

5 % Wire wound resistor



4 % Transistor

Question Number : 143 Question 1d : 10159 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

o= & @ 9 R W@ ooy afer g2
Options:

1_@4*'QTUT
2_233‘%-\:'?
S_QEmTaa?ﬁl?-r; §34T1;|ﬁ-‘mzr

4 % ;Hilﬁ!

Question Number : 144 Question I1d : 10160 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A full wave bridge rectifier is supplied voltage at 50 Hz. The lowest ripple frequency will
be

Options:
1 ®% 50Hz

- « 100 Hz
- % 200 Hz

., » 400 Hz

Question Number : 144 Question Id : 10160 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T 07 T fost YFewraw &t 50 Hz Fr smgfeq X Siees wara frar g
Ruer sgfa #1 =gaa8 A g

Options:

. ® 50 Hz

> « 100 Hz
- = 200 Hz
4 » 400 Hz

Question Number : 145 Question I1d : 10161 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The maximum rectification efficiency in case of a full wave rectifier is
Options:

; = 100%

> #% 55.6%

2 « 81.2%

4 % 40.64%



Question Number : 145 Question Id : 10161 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

qut oReT T B it Eefreee garar g 3

Options:

. % 100%
. % 55.6%
2 v 81.2%

, % 40.64%

Question Number : 146 Question I1d : 10162 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the following rectifier needs four diodes?
Options:
; # Half wave

» » Centre tap full wave

-  DBridge

4 ®% Normal full wave

Question Number : 146 Question Id : 10162 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

o= & frg MEewmy & 9r saE i1 S Tdar 2T 87
Options:
1_333'“—&51:11-

o » HeT T qOT AT
E.Jﬁ?
4.$3W.{Uﬁ-ﬁi?r

Question Number : 147 Question Id : 10163 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In a semiconductor diode. the barrier offer resistance to
Options:

, % Holes in P region only

- % Free electrons in N region only
5  Majority carriers in both the regions
, % Majority as well as minority carriers in both the regions

Question Number : 147 Question Id : 10163 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



e TE &, AfET Y 9fey yere #ar 27
Options:

. RSP aTE @A

, « &% N &9 & a7 solagid & |

_ Gl &l & SgAd aeet ) |
4@@?’?&%‘:{%#3@??#@'5&3?4&@* agH F |

Question Number : 148 Question I1d : 10164 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When a normal atom loses an electron?
Options:

. % Atom loses one proton simultaneously
> % Rest of the electrons move faster

5  Atom becomes a positive ion

, % Atoms become a negative ion

Question Number : 148 Question I1d : 10164 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S T WA A, TFelT @ 4T g, a9

Options:

| % I8 | & AT TF AN o W v &
- » G FolFeld o= dolel o9l &

. » U] UF IATCHF HTA §F AT g

, » FU] UFH FHOUMHE IS &1 AT &

Question Number : 149 Question I1d : 10165 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The forbidden energy gap for germanium is

Options:
| % 0.12eV

> o 0.72eV
3 % 0.32eV
4 % 092eV

Question Number : 149 Question Id : 10165 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FHTTH FT A T AT £

Options:



% 0.12 eV
, v 0.72 eV

z % 0.32 eV
4 % 0.92 eV

Question Number : 150 Question Id : 10166 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Free electrons exist in
Options:
; % Freeband

> % Second band

= « Conduction band

4 % Does not exist

Question Number : 150 Question I1d : 10166 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TGS Solddld Fal 9T 9 &
Options:

e s
g_w@ﬁ%a?ﬁ'

. o FETe 87 F
4 % &I 9T AT &

Question Number : 151 Question Id : 10167 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Introducing Asha to guests. Bhaskar said, “her father 1s the only son of my father". How 1s
Asha related to Bhaskar?

Options:
1 % Niece

> % Grand Daughter

o % Mother

4 « Daughter

Question Number : 151 Question Id : 10167 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



ﬁmﬁ#mnmqmmgvm#m, "3ge far Ay e &
THAlTd a¢ 21 3TAT FT JATEFT ¥ FAT TFa 27

Options:

1 & m
o # Tl
T W HIAT
L o @

Question Number : 152 Question Id : 10168 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Pointing towards a girl, Mihir said, **She is the only daughter of only child of my
grandfather". How is the girl related to Mihir?

Options:
, ® Daughter

5 R Niece

o « Sister
4 % Grand Daughter

Question Number : 152 Question Id : 10168 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

ﬁﬂ?ﬁﬁﬁ?ﬂﬂﬁﬁﬁﬂ'ﬁﬁ?#ﬁ, "gg AL ET T THATT HAT &S
THATT AT &' o= &7 ARy & 71 &= &2

Options:

1_%ﬁﬁ‘
z.ﬁm
3, « ot
4.%":'17'?[

Question Number : 153 Question I1d : 10169 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following questions, select the related number from the given alternative.

841: 29:: 289:?

Options:
1 ® Pl

> % 21
= o 17
g *® 13



Question Number : 153 Question Id : 10169 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Fafaad 9eaT #, ffT 71t Serear O §afeg §&ar &1 997 1|

24t .28 - - 289 7
Options:

1.%23
o W 21

3 o 17
4 %13

Question Number : 154 Question Id : 10170 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

In the following questions. select the related number from the given alternative.

584 : 488 ::294 :?
Options:

1 # 581

> % 291

= o 378

4 % 487

Question Number : 154 Question Id : 10170 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Trfaf@a Tt #, ffr 71v Seeut ¥ g9fog 9&ar &1 I39d FII

584 : 488 : : 294 : ?
Options:

. % 581
5 % 291
5 v 378

R 487

Question Number : 155 Question I1d : 10171 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In each of the following questions, there 1s a certain relationship between two given words
on one side of : : and one word 1s given on another side of : : while another word 1s to be
found from the given alternatives, having the same relation with this word as the words of
the given pair bear. Choose the correct alternative.

Fear: Future : : Earth : ?

Options:



1 # Compulsion
> % Panic

5 % Provocation

4  Force

Question Number : 155 Question I1d : 10171 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A RT T g & Reg (0 ) & a1 T &Y oeg Fr 717 & 5= 399 & o=
YFN & HIS TG g1 8% 3 Y1 &7 §a &g (2) F I 37 Be 717 oaeg
F AT 7 off ¥ 3 I8 RaeT oMeg JUST 3ca7 &1 Tar 3ca] @deT H O AT
FITAT

o swfasT:: g ?

Options:

il

= % Scdodl
4.\»;?33-

Question Number : 156 Question Id : 10172 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In each of the following questions, there is a certain relationship between two given words
on one side of: : and one word 1s given on another side of : : while another word 1s to be
found from the given alternatives. having the same relation with this word as the words of
the given pair bear. Choose the correct alternative.

Paw : Cat : : Hoof : ?

Options:
1 % Horse

> % Lion

= « Lamb
, % Elephant

Question Number : 156 Question I1d : 10172 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

M Rrarga AR ()F TG v ar & a7 3w 7 o=
YFR & HIT Fa g1 S 3H T &1 §o Beg (0) F aF 3 e 77 oaeg
F @7 7 off ¥ 3k B ReeT e 3TIFT IAT B WE FeT HFew ¥ AT
FraT|

qST: ol Tw ?

Options:



llgzﬂsT
2 x W
s v 9T F F=AT

4.%31-2&

Question Number : 157 Question Id : 10173 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A truck. a car and a motor cycle have equal Kinetic energies. if equal stopping forces are
applied and they stop after travelling a distance of X. Y. and Z respectively. then

Options:

| KX F
> # X<Y<Z
z % X=Y=Z

L % X=4Y=8Z

Question Number : 157 Question Id : 10173 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U T, UFh &N 3T & AemEfea & afa 7T gA7 g1 397 AT a9
TS NI IA TERX, Y IR ZGP aa R &+ A g, 99 ?

Options:

1 Wl
ox X<Y<Z
s X=Y=2
4 8 X =4Y =82

Question Number : 158 Question Id : 10174 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Seven persons P. Q. R, S. T. U and V participate in and finish all the events of a series of
swimming races. There are no ties at the finish of any of the events. V always finishes
somewhere ahead of P. P always finishes somewhere ahead of Q. Either R finishes first and
T finishes last of S finishes first and U or Q finishes last. If in a particular race V finished
tifth, then which one of the following would be true?

Options:

1+ S finishes first

- % R finishes second
= % T finishes third

, % R finishes fourth

Question Number : 158 Question Id : 10174 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



T @RI P, Q R, S, T, U Td V T Tl & U @ # 197 od g,
FEM F A T R FN it A e afi g 1 v g@r P @
FEl HTT 9T I TATST ST g1 P 797 Q ¥ FET AT 39T I AT
A T A RITF I T AT AT g I S TaRm Har g 3T U am Q
I 3 g1 3R T faoiy 79T & V 9= T 9 M 49T g, ar
Taf@a # & a7 9 g

Options:
| v S YUH H&T 9T HTET g

, » R GO AR R A1

. x T SR FS 9T 3T g
. % R = F&y WX 3mar g

Question Number : 159 Question Id : 10175 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In certain code langnage MADRAS' is written as 'DAMSAR'. how can MUMBALT be
written in the code language?

Options:
| % BAITUMM

- v MUMIAB
s % IABMUM
, % MBIAUM

Question Number : 159 Question Id : 10175 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

v Afaa T 9T 'MADRAS' &I 'DAMSAR ' fRr@r imar g, s &g smeT
# 'MUMBAI' &1 &8 for@r smee?

Options:

. % BAIUMM
> v MUMIAB
. » IABMUM

. % MBIAUM

Question Number : 160 Question Id : 10176 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

If MEAT is written as 'TEAM'. then 'BALE' is written as
Options:
1 % ELAB

- % EABL



5 % EBLA
. v EALB

Question Number : 160 Question Id : 10176 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

3¥R 'MEAT' &1 'TEAM' for@r Sitar § & 'BALE' &r & for@r sreen?

Options:

. » ELAB
> % EABL
= » EBLA
4 v EALB

Question Number : 161 Question Id : 10177 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Assuming that the characters in this set follow similar pattern. find the missing number.

4 | 1/5 |21/5
1 | 112 | 3/2
Z ? | 83

Options:

1 *® 4/5

o 3/4

T W 2/3

4 ® 1/2

Question Number : 161 Question I1d : 10177 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

$H WAE A W WA 9id I F AT IS § A€ AAH BT gIHT (?) IF

e 4 | 15 |21/5
1 1/2 | 32
2 | 2 e

Options:

. % 4/5

z.vﬁ’%



4 % 7

Question Number : 162 Question Id : 10178 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Assuming that the characters in this set follow similar pattern. find the missing number.

—g 5 6

5 T '

3 4 5
135|140 | 150

Options:
1 % 4
2 % 3
3. ¢ 8
4 % 10

Question Number : 162 Question Id : 10178 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

$H WAF A 3T WA 9id T F UET FA & TE AAH T 3 (?) 3h
TS|

g 5
7

l 135 140 | 150

Options:

1_%4
> % B

3.%"3
4_%10

Question Number : 163 Question Id : 10179 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



In the following figure. the smaller triangle. represents the teacher. the big triangle
represents the politician, the circle represents the graduates and the square represents the
members of parliament. Different regions are being represented by letters of English
alphabet.

Politicians
Teachers

Members of

/ \ B G parliament
i
W*——-—Grad uates

Who among the following are graduates or teachers but not politicians?

Options:
1 % B.G

o W G, H
4 #® E.F

Question Number : 163 Question Id : 10179 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fam =T & oter B Rerwt Fr gofar &, g7 B gaifaat o gefar 2,
Jod TATAHRT A 7 AWS-TEEAT Hr onar g1 By &7 Fffew a9 7 s
JUIATAT & A& FRT ATIAT 14T §

A~ =

g # ¥ Fi9 =g+ 71 Pregs § 97 TaATaT J8r 82

Options:

1 *® B,G



o W G, H
E E: F

Question Number : 164 Question Id : 10180 Question Type: MCQ

Correct : 1.0 Wrong: 0.25

In the following figure. the smaller triangle. represents the teacher, the big triangle
represents the politician, the circle represents the graduates and the square represents the
members of parliament. Different regions are being represented by letters of English
alphabet.

-—— Politicians
Teachers

Members of
parliament

Graduates

Who among the following politician are graduates but not the members of parliament?

Options:

o W 1. B
2 % | b 5
4 W A.H L

Question Number : 164 Question Id : 10180 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



et T A orer fer Reret &t gefar 8, a31 Bwor gehfast @t gurar g
Jed TR AT T FHS-HEEAT HT FAar g1 B 7 A et @ sEsh
FuTATeT & HaRT ganr AT T

-—— Politicians
Teachers

Members of

// ‘\ B ' parliament
/
W——Graduates

faf@a & ¥ &9 & TaATas &g+ & 9 0 TSEd F&r gl

Options:
1 v B, C
> % L, B
= % D, L
4% A H L

Question Number : 165 Question Id : 10181 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

When seen through a mirror. the clock shows 9:30 as the time. The actual time is
Options:

1 % 2:30

> o 3:30

= % 5:30

4 % 8:30

Question Number : 165 Question Id : 10181 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

U 90T & HEH ¥ 2@ I 97 U F §HEY 9:30 Twar g1 g2 v areafes

AT AT 87
Options:

1 % 2: 30
> « 3. 30
= % 5. 30



q B 8: 30

Question Number : 166 Question Id : 10182 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which of the answer figures is exactly the mirror image of given figure. when the mirror is
placed in line AB?

fa

t 1 - . i | L3 |
E | A | \’j { \
é | E—\ | é— | - ﬁ'
R e -
B .
Options:
1.¥ a
o W b
z #® C
4 % d

Question Number : 166 Question Id : 10182 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

frafaf@a gea & Sia-r 3eav e v amsfa & guor wfafers @efr, 5=
Zqur &t 9fea AB # I@r S|

All [Alv]YIA

Options:
1.+ @

g_ﬁb
z ® C
4 % d

Question Number : 167 Question I1d : 10183 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



In the following question a part of the question figure (X) is missing. Find out from the
given answer figure (a). (b). (¢). (d). that can replace the '?' to complete the question figure.

I~ | "
oNe/o ’
'n'_"l"-'_'-,\-‘c -f
Ky

5 oo

=] I
| o0 o o0 olf o |
=l =] L Qo il s Q O 0 (=]
(X) (a) (b) (c) (d)
Options:
1 % a
> % b
3¢ C
4 % d

Question Number : 167 Question Id : 10183 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fafaf@a wea & (a), (b), (¢) 3R (d) F FlA-W 3cav wpfa w7 IJFA (X)
# 7' Fr so1g AT BT & QU w4 82

o™~2 0
Gﬂ{;nﬂ
A 2 QOQ
O 0 [s] o o
? GQQG QGD Oﬂo i Go
o o o o
Options:
1 % a
o % b
z v C
4 % d

Question Number : 168 Question Id : 10184 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In the following question a part of the question figure is missing. Find out from the given
answer figure (a). (b). (c). (d). that can replace the '?' to complete the question figure.

X) @ ® (© (@

Options:



1 ¢ @
E.Wb

z % C
4 % d

Question Number : 168 Question Id : 10184 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fafaf@a wea & (a), (b), (c) 3R (d) # HIA-H 3eav HHfa T ST (X)
H ' & F91g T BT F O FT 82

Gt
vEfw i

(X) @ ® (9 (d)

Options:
1.« 8

E.Wb
3 % C

4 % d

Question Number : 169 Question Id : 10185 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Following series consists of six figures. two of which at the ends are unnumberad. One of
the four numbered figures does not fit into the series. Find-out the figure.

N ¥0 ¥ ~
QK u
uoe n o

N 0 X O
oA ¥(()

0 M gA
3

M A

{ A
0 0
E o

e | a
- O D>

O

0
!
=

ozae! |
k2 [ O

e
ol 4|

Options:
1.¢ 1

Question Number : 169 Question I1d : 10185 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



feafaf@a @l 6 smwfoal & &t &1 g & g {9 &=l mpfaar
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0 0t X (0
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E DO X .
1

X

O x X M ¥ ¥ n
A ¥|() ol U
0

M 9A © Uo n o
3 4

d

o | O
<

Options:
1. ¢ 1
> % 2
z % 3
4 %4

Question Number : 170 Question I1d : 10186 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Following series consists of six figures. two of which at the ends are unnumbered. One of
the four numbered figures does not fit into the series. Find-out the figure.

AT DAY

Options:
1 #® 1

2_%2
3. ¢ 3

4 8% 4

Question Number : 170 Question Id : 10186 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



fFrrfof@a @i 6 srsfaal @ =it &1 s@er & g B o &=l ansfaar
TEIEE FE &1 IR ASiaEt 1, 2, 3, 4 # § FiF-H v AFT 57 g@en #H
fore 74T 21

A< =<~

Options:
1 & 1

> % 2

z 3
4.%4

Question Number : 171 Question I1d : 10187 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Where was the Azad Hind Fauz set up?
Options:
1 = Japan

- # Burma
=  Singapore

4 » England

Question Number : 171 Question Id : 10187 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

m%ﬁ:qﬁs{mmﬁgﬂ&m

Options:
1, % SAled

g_Waj:ﬁ-
3 * 3
4 TS

Question Number : 172 Question I1d : 10188 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which one of the following Indus Civilisation site gives evidence of a dockyard?
Options:



, = Harappa
- «" Lothal
= % Mohenjodaro

4 % Rakhigarhi

Question Number : 172 Question Id : 10188 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

f=fofae # ¥ Yy o g0 § 59 79 | 9i9mg & g & gAor &
¥

Options:

1_3333-ch
. o T

3 % ig=T=icel
4 ® TSt

Question Number : 173 Question Id : 10189 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following committees examined and suggested financial sector reforms?

Options:
1 # Abid Hussain committee

» % Bhagwati committee

z #% Chelliah committee

4 « Narasimhan committee

Question Number : 173 Question Id : 10189 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

f=faf@e & & #la & afdfa a snfds a9 & s/ i 3R Tt F g e

Options:

| W gdT @Ay
o W Wﬂ?—ﬁ'ﬂﬁ'ﬁ:’f

. » Afcong BiAfT

. v TEFET wEAf

Question Number : 174 Question Id : 10190 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Securities and Exchange Board of India (SEBI) is

Options:
, % constitutional body



> % advisory body
-  Statutory body

4 % nhon- statutory body

Question Number : 174 Question 1d : 10190 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

ARyl ve Afaay @ o gl
Options:

1 ® gaerfas §ET

> % TegeR forehr

. o Tt e

4 #® ?‘TT-Q:I'Iﬁﬁ?ﬁ ﬁ-’l-‘ulﬂ'-ﬂ'

Question Number : 175 Question Id : 10191 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which among the following national highway routes is the longest route?
Options:
, % Agra- Mumbai

5 % Chennai - Thane
-  Kolkata - Hajira

4 % Pune — Machilipatnam

Question Number : 175 Question Id : 10191 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

STH W HIF-AT TET TFAAET TIE o4 272

Options:

1. % -JE

, « HeAS - 0T
-  HIeERET - ST
4%3&-:@?&%

Question Number : 176 Question Id : 10192 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The largest tribal group of India is
Options:
1 % Bhils

- " Gonds
z % Santhals



4 % Tharus

Question Number : 176 Question I1d : 10192 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AT HT TEH T3 AT T HioT-TT 872

Options:

1_%#1?4’

Question Number : 177 Question Id : 10193 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

Which of the following exercised the most profound influence in framing the India
Constitution?

Options:

1 % British Constitution

> % US Constitution
- % Irish Constitution

4 + The Government of India Act, 1935

Question Number : 177 Question Id : 10193 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Ry & O &g 9T gy & AT & 39T T80 96T 6T § 2

Options:

| x Tofeer wfdae
. » AN wiau=

5 » AN Al
, v T "R AfRfETA, 1935

Question Number : 178 Question I1d : 10194 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Diarchy was first introduced under -
Options:

1 # Morley - Minto Reforms

> « Mont - Ford Reforms

z % Simon Commission Plan

4 % Government of India Act, 1935

Question Number : 178 Question Id : 10194 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



FEUH AT aTEA & e SEGT T T o ?
Options:

|, A - R R

4 % FRd B&R FAafaTd, 1935

Question Number : 179 Question I1d : 10195 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Consider the following statement with reference to X- rays.

A. They produce heat when absorbed by matter

B. They are generated when fast moving electrons strike a metal target.
C. They can penetrate through a thin sheet of aluminium.

Which of the statements give above are correct?

Options:
1 « All three

- % Only Aand B
z % Only A and C
4 % OnlyBand C

Question Number : 179 Question Id : 10195 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

X fROmt (X-Ray) ¥ ¥Fa=y # @5 Faar W TR
A. T TS F @ HIMWA F W FSAT 3c9e FLal g

B. O aIfer & Tolel ATl $olagieq 5id U W YN Hd g, ar X faor

et
C. ¥ T% Jdell TegHIATH F =qEI H IR FT AT 2
FIF T FuT T E?

Options:

1.\#’m‘:ﬁﬁ

- % dc A 3T B
- % $dad A HT C
4 % +aar B HR C

Question Number : 180 Question Id : 10196 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

In general what is the range of frequency of the "Message Signal"?
Options:



1 Radio Frequency
> % Audio Frequency

5 » Both Radio and Audio Frequency

., % Neither Radio Frequency nor Audio Frequency

Question Number : 180 Question Id : 10196 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

THTd: "HAS e &1 sngfca & @@ Far g 22

Options:

| o U= wefed

o ® 1

L« AT SR SR smgfea gt

, w @ U mfed 3R A g AT agiea

Question Number : 181 Question I1d : 10197 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Mercury is emitted into air by

Options:
| % Burning coal

>  Burning garbage
5 % Coal fire

4 % Stem engine

Question Number : 181 Question I1d : 10197 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

9 F g7 H 3cHST 2l &7 FROT gl

Options:
| % IFel T Folell

5 TEL FT FAAT
5 % PIFe T AT

4 % HTT S

Question Number : 182 Question Id : 10198 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Main source of lead pollution is from
Options:

1 % Sewage

5 Leaded gasoline



-

z % Tobacco

4 % Ins ecticides

Question Number : 182 Question I1d : 10198 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

W8 ¥ gl aTel JEuUT H HET RO g ?

Options:

| @ (FA-HA)
| SEgEd Sge

*

3.%E a

4 % SIEATIF

Question Number : 183 Question Id : 10199 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Genetically engineered human insulin is manufactured by the use of
Options:
1 « E-coli

. % Rhizopus
= % Pseudomonas
4 w Ashbya gossypii

Question Number : 183 Question Id : 10199 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

AR ®9 ¥ AT A= sgfoa &1 @A G & 393 8 gar g

Options:

L -l

Question Number : 184 Question I1d : 10200 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Restriction enzymes was discovered by
Options:

1+ Smith and Nathans

- w DBerger



5 % Waksman

4 % Fleming

Question Number : 184 Question Id : 10200 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

gfaeer vaEAr £ @ Faa Fr a2

Options:
| v Ry TEauw

E_Wﬁ
2 % alsFEHeA

4_%@@111-

Question Number : 185 Question Id : 10201 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

For which sports is the "Val Barker Cup" awarded in the Olympics Games
Options:
| % Swimming

5  Boxing
- # Long Jump

, % High Jump

Question Number : 185 Question Id : 10201 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

A Ter # "ae g7 79 5 @9 F °OF 957 A Fmar 22

Options:

Question Number : 186 Question Id : 10202 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

The winter Olympics 2014 was hosted by
Options:
1 « Sochi

5> % Oslo

- % Paris



4 % Stockholm

Question Number : 186 Question Id : 10202 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

aﬁﬂmﬁmaﬂﬁmzommmaﬁgmm?

Options:

1.««?#'?”
o> % Tl
5 % 9RH
4.wm

Question Number : 187 Question Id : 10203 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Who stood runner-up in Wimbledon 2015 ladies singles final?
Options:
| « Garbine Muguruza

. % Maria Sharapova
5 x Agnieszka Radwanska
4 % Lucie Safarova

Question Number : 187 Question 1d : 10203 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fgersar 2015 AFATT F THd T F BEAST H 3UEAAT R @I

Options:
1 W 29

o w FTET ARTITET

o % HEAUSTSART TGATER

4@313&14@31

Question Number : 188 Question Id : 10204 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Recently..........oooiiiiiiiiiiial, has become the sixth - largest mining company in the
world in terms of market capitalization.

Options:
| ® Q1il India

5 o Coal India Limited

- % Indian Oil Corporation



, % Bharat Petroleum

Question Number : 188 Question Id : 10204 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

g aH TSR SR F REE @ gFar A oodt wad w9 @ w9
T 7E

Options:

1 #® mm

. v F gfEar faes

L x ITETS ATEH FERAS

Question Number : 189 Question Id : 10205 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Who took over as India's new Cabinet Secretary?
Options:
, w Kumar Saurabh

> % R.K Shukla
4 Pradeep kumar Sinha

L% Ajit Kumar Seth

Question Number : 189 Question Id : 10205 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

T & AT sigae @ET & & & FEa 9891 g 872
Options:

FAR T

1. % o

L w R & Y
. » T AR foeEr
, » FSd FAR WS

Question Number : 190 Question Id : 10206 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

Which is the costliest city in the world in terms of cost of living?
Options:
| « Luanda

> % Mumbai

5 % Zurich



4 % Singapore

Question Number : 190 Question Id : 10206 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

SEAATTA HT AR & ATFS H giadr H HEH FHEI AR Hied AT 27

Options:

v B

Question Id : 10207 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes
Question Numbers: (191 to 195)

YTdd EATY FT LAAIEH T UF el 9ol & 3ca? g

A H Well T FI BT FT gel H FEH $T eicemen, JAT MFaqT 7 &
URUT FIAT &, FHHT A90rar #F ofr HgT AAGLan, Fgar 7 M 39T AYIT,
gEar F off el Ear Ty = A g Bwar #7 o 38 ey wAaT
#1 wieed &, S 3R 3T gu e JeT F1 gw aE ® T 5
THATT FT AR FF F9 F A7 giar g| Rl e, Ided, g€ e &l
UNIYaTE HEhd alela 37T ey ditaaererd ¥sore FF 33T # g
AT &d e AfFdded 1 Sl U TAHR-HT [§@TS 93T §, 3HHI a8 #

off IS T TE Wieed woEerer Anfge]| sfworar #R wwdr, seear #HR
FORAT, gl 3 FAYIAT, TI5dT 3R FGAT FT THATT &1 ABTH FT Hegd g
sfe FiF arediF Fr aoh =3t d@icd F seuea Jgicas =1 ear w@=ha g
Tied F7 Tg 3cued FTlET FT 0T g gar guHd 3R Foer i g
mﬁrmmmaﬁrwaﬁmgwmmmmm
AT, FHIS, FAERN, FoIT SAET off T@AT & AW, TR AT o7 F
T T 1T §] W 8N 919, N §9 3T O a9 SAia-d1ay AAcHar &
fare & & e &9 9T A &) 3 R 3R FFAE sHed AW, 3H% AR
Ha 3R FI0T Tee el fqmme 93 §) g Rt AT oI W T EEew 7,
AT @9 AR 3T FGEIAT T R Feuanr g suw F ot 3uS "SI H
H F WHAT AT a7 Fr FT F FiesT geTeT Fa




Sub questions
Question Number : 191 Question I1d : 10208 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TEATY & HER, FHHAT & Hegd haa &2

Options:

| % ¥FOTT F gfa AW fTme #
- Al F 9fa FAgar & OEer A
o v TR st F e A

, « ¥eOm & 9fa 97 G A

Question Number : 192 Question I1d : 10209 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FEUr & HEPT aiddsl I FIT Ffafehdm A H 3340 872
Options:

| WEHSTET #r FA w2
., 3HFT JATH Jhe giar g

2.

. » U TP A AA FT G A g

38+ HEHd 3TAR0T 9T gHr 31T g

Question Number : 193 Question Id : 10210 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

faeaw 3T FcO=ER & TEIAT H19 F4T & §9d 2
Options:

| % STSIER 3R Forer
o T&T AT T FT a9

. » FEIT FARIAT F A
, w Hledr &1 feeg i

Question Number : 194 Question Id : 10211 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

‘HTAGHT & g F I@F FT FAT Jc9T g7

Options:

|« Shad & FxHar AR FEear der Fe
, w FUH FT HIA F FleaAT

- » AT & 9fa UY The AT
, v SR o4, 9 3R @R & 3R aEes

Question Number : 195 Question Id : 10212 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

$H I IO & o 39gFd i F41 82

Options:

4.




| o TRt ¥ FEeEn #odled
, « WiGH T SgEET

5 % SATH HT FIET FHell

4 % SHTFdcd & THHR

Question Id : 10207 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes
Question Numbers: (191 to 195)

YEdd ST FF CAAEF T¢ U9 faFa 99t & 3o g

Ak # el 3@ FH T FT TS H FEA T HGAGHA, N AFIHAT T H
UROT FTAT §, SHHT AU H o I3gd AT, Fgar F fr HIF FYIT,
gesar # off el aEar "y = A g et # off 38 ey waaE
F1 Fived &, Swdr 3X 3T gu oo A7 F g5 7 ® A 56
THATT H AR FF F9 F A giar §| Rl e, IdeA, g el &l
URTYATE §EFhd areld 37T R dffaaeramdt gsoa 1 39S 7 wores
THAT &3 T ATFdded F A UF THHR-TT G@E u5ar §, IWH 97 &

ff TESET FT T Hieed ETAT Aigv| AworEar d#R wEar, FiEedar HR
FIRAT, FgaT HR AYIAT, TI=a1 AR AAT FT FHATT & AFUA F Hiegd g
e FfF arefs Hr aoh s dicd F 3curea Fgcaa #1 e T3 g
Higd FT I FcHea FElSd FT HETOT g BT guH AR Hore fr IE
mﬁmmmﬁmaﬁmgwmmmmm
=Y, IHIA, HAR=R, FAT AT ff @A &) AW, eI AT =7 &1
79T T 91T 8] W WX H1E, R §F AT 8N O9R HATT-a7 AEgHar F
faepre # & T &9 9T S &) 3t R 3R FeAE SEed AW R, 38 AR
He AR FI0T gee el fa@me 93T 8] afe fFlt 3T 5w AN EEeR 8,
Y @9 AR 3T AT T HR Fouarr g uw F ot HuS SFIweT H
FH F WAT AT aF Fr F7 F wiegd vemer Fa

Sub questions
Question Number : 191 Question I1d : 10208 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TS F FAAR, FHEAT T T hus &2

Options:

| % FeI F 9fF A9 e A
z_waﬁ?ﬁéqﬁrmﬂ#mﬁ
5 v TR STE & aEeew A

, « ¥eOm & 9fT 97 feme A




Question Number : 192 Question Id : 10209 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

FEuTl & HEPd siadsl 9 FAT Ffafehdm A4 H 334! 872
Options:

| THSTET # F w3 ¥
. JUEF FHATH T 2dr 2

2.

3HET HEFA WA A & T 1T g

38+ HEPHd 3=9RUT I gHr 3T 2

Question Number : 193 Question Id : 10210 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

fregg 3R 3cUER ¥ mEemer o9 #2422
Options:

| % STSITE 3R Ferer
.« T&TT 3R F@Irer F7 o919

Elwaqag?rnﬂm?ra:rm
. » Hled # few w e

Question Number : 194 Question Id : 10211 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

‘HAgHel & T T 3@+ FT F7 a9F 22

Options:

| » ad # FEAT AR FHGEr e H
, w 3TH HI HTHA H HeaA

s« FOT F T AT Fehe FHIAT
, v TR #19, 79 3 @R & 3R aEes

Question Number : 195 Question I1d : 10212 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

$H I HIAOT & o 39gFa i &1 872
Options:

| o ot & e v odled

, » Wigd T 3gHTeA

5 % TATH T FIeT FHal

4 % SHiFded FT THHR

3¢

4 ®

Question Number : 196 Question Id : 10213 Question Type: MCQ
Correct : 1.0 Wrong: 0.25



AT AT AEERA FT FHT g a3, 9T ¥ Ty H:ft I AT
Options:

1%3‘|T'ﬁt_'r

4 FTATET

Question Number : 196 Question Id : 10213 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

TATIUT 3T AGTHART T TAT g 3T, 9T T T I g AT g
Options:

1%-33:'#'(_"-

4 e

Question Number : 197 Question Id : 10214 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

o= # ¥ U dcHHA U TIcHT §d1ST

Options:
1 # Hellled

> ® HA
5 ®% dcdl

4 v HIEH

Question Number : 197 Question Id : 10214 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

o= # ¥ U dcHHA s BIcHT IS0

Options:
1 # Hellled

> ® HA
5 ®% dcdl

4 v TIEH

Question Number : 198 Question Id : 10215 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fa=faf@a # = Ser Radanis a8 8, 38 T4

Options:
| % A=



5 % GIA-HIS
AT-T

3_23 2 o2
4 o TH-3TTH

Question Number : 198 Question Id : 10215 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

fa=faf@a # = Ser Radanis a8 8, 38 T4

Options:
| % A=

o % HIT-HIS

IR
Z ® J =

4 v TH-3TH

Question Number : 199 Question Id : 10216 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

S AT HTRUT & v sugea ofis Far g7

Options:

| x FEE F AT Hr g

.  SAad T F=BT

o w ST FA H F=00

, % TRET TS FT A HT AT Seeha

Question Number : 199 Question Id : 10216 Question Type: MCQ
Correct: 1.0 Wrong: 0.25

$H AT FANOT & o sugea ofive Far 27

Options:

| x SEA F T HrogEoT

. o SE FH F=BT

o w ST FAE & F=oT

, x TRET TS FT A HT AT Seha

Question Number : 200 Question Id : 10217 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

FAES FT TEr S-S F B

Options:

o ox FAH + T



o W F-|1=I':+1$|'
4 TH o+

Question Number : 200 Question Id : 10217 Question Type: MCQ
Correct : 1.0 Wrong: 0.25

THES FT TEr S-S Fm B

Options:

o ow TH + E
o W F-|1=I':+1$|'
4 T+ O



